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ax® +bx* -4 = (x> +x-2)0(x

— (x=1)(x+2)0(x)
PR x 1,5 = -2 & 217} It
a+b-4=0,-8a+4b-4=0
= A8 Agdeto] Eda=1, b=3
L ab=3

ax® +bx? -4 = (x> + x - 2)(ax + 2)
S-S A7Nsto] A4-E B sHH
a=1,b=3 . ab=3
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3. a+bt+c=0, a®+b*+c? =198 W, 4(a®b? +b%c® +2a?) 9] 727

1
® 2; O @ 2 ® 3

=~ =

B ~

(a+b+c)?=a*+b?+c?+2(ab + be + ca)

1
. ab+bc+ca:—§

4(a’*b* + b*c? + ?a?)
= 4{(ab + bc + ca)? — 2abc(a + b + ¢)}

1 2
—4><(‘5> =1




Al A4 a, b, coll WSt (a, b, ¢) = ab + bc = 4|3t} oj,
T4 (x4, y) = (2x boy) = (xn 2, y)01 G4 A5 x, yoll Hhate]
A== q, b2 S H5HH?

Da=1,b=2 @ a=2b=2 @aZQ,bZO

@ a=0,b=2 ®a=0,b=0

~&B

715.9] Hojol thaba] 2017 A1 ThA] 2T
(ax + ay) — (2bx + by) = 2x + 2y

o] A& x, yoll Histed A=sha
(a=2b-2)x+(a-b-2)y=0

o] S410] gleje] x, yo] Bjstel Hstng
a-2b—-2=0,a-b-2=0

Flo] F 4s A5t EHa=2,b6=0




5.

-4 fax+bE (x+ 1) 22 YrH UHAZE 7Ol E W, a + b

o ghe?

D -12 @—10 ® 0 @ 10 ® 12

B

44 vhect.
z—6

P+2z+1) P-4+  aztd

—| 2 +20°+ @

—62°+(a—1)z+b
—’ 67— 122-6
(a+11)z+b+6

UHA| 7L 70|B2 g+ 11=0,b+6=7
ca=-11,b=1
~a+b=-10

&8

x3—4x®>+ax+b
(x+1)2(x+k)+7

B4 (k+2)x* + (2k+ )x+k+7
A4-E B s
k+2=-42%k+1=ak+7=0
k=-60l22 a=-11,b=1
sa+b=-10
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x o FA fF)E x+ 12 Ys o, yHA|7t 20|t o] o,
(xz—X-l-S f(x 2 x+ 12 % ez E 15hH?

il

f(=1) =2
(¥ =x+3) f(x) = (x+1)Q(x) + R
x=-194Y

SR=5f(-1)=5%x2=10




oA (x+2)f(x) B x—1 2 te YA 7H9, ThdA] (2x-3) f(3x—7)
= x—-3902 U YHR|7} -30|t}. offl thg}A] f(x)E (x—1)(x—2)
2 U UHAE?

D)-4x+7 @ -4x-3 ® 2x+3

)

@ 2x-3 ® 3x-1

B

U 214 2o o]t

(x+2)f(x)°ll x =1 HUstHA

3f(1) =9°]22 f(1)=3---O
(2x=3)f(Bx=7)°ll x =3 HYst¥

3f(2) = -30|B& f(2)=-1---©
f(x)=(x-1)(x-2)Q(x) +ax+ bl @, O HYsIH

at+b=3
2a +b=-1

OlBEZ2 a=-4,b=T7




9. oA f(x), gx)MA f(x)E x* - 12 Y= YHA|7F20]0 g(x) &
x? = 3x+ 22 U UHA7F 2x + 10|t} 2f(x) + 3g(x) Ex - 12
e Uo7

@i @-3 16 @®-16 6 2%

B

fx) =2 -1)01(x) +2,

Lf)y=2
g(x) = (x* = 3x +2)Qa(x) + 2x + 1,
§(1)=3

x)+3g(x) S x— 12 U U=
=2.2+3-3=13




10. 7oA f(x), g(x) ol tste] f(x)+g(x) B x+1 = ¥ Lrof
x)—g(x) B x+1 2 Urd Ywx]7} 20|t} ok [27]]

of Al FolA) x4 1 2 o] WA 2 B M2

@ x+ f(x) © x-gx)
© x+ f(x)g(x)

O, @< AHste] EH f(-1) =1,g(-1) = -1

B719 A FollM x+1 2 o] BojAl= A2 x = -1 &
st Ae] ghel 0 of Hrt.

O-1+f(-1)=-1+1=0

©-1-g(-1)=-14+1=0

© -1+ f(-1)g(-1) = -1+ 1x (1) = -2
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11. 24+x-1=04% o, x> —5x 9 Zk2 F51H?

® 2 @ 1 ® 0 @-1  ©)-3

. )
X -bxEx2+x-1=2UFxH

ZF, x5 —5x = (x> + x - 1)x %3

X4+x-1=0

X0 —-bx=-3

B )

ket 2ol Ao] A48 WA U 4 gk

¥=-x+1
x® = 5x = (x?)2 x x - bx
= x(-x+1)% - 5x

=x3—2x% - 4x
=x(—x+1)-2(-x+1)—4x
=-x>-x-2
=—(x*+x)-2
=-1-2=-3




12, 1985 AR H 1995 71| 59 7+A 0 2 ZARRE -2uete] F7hel+
H& P+ thatt 22 A o= Uehd 5 9l
a 85 | 90 [ 95

AFH& (%) | 209 | 155 | 10.8
Q1-(1000 ) | 8521 | 6661 | 4851

P = 0.35¢2 — 5.75¢t + 20.9
ol W, t = 02 1985 {2 LEFHTE o] A& ¢ = 0°] 1990 -2 LHE}
W= Hegsta?

® P =0.352-5.75t+ 20.9
@P = 0.35(r 4 1)2 = 5.75(¢ 4 1) + 20.9

® P=0.35(t-1)>-5.75(t - 1) +20.9
@ P=0.35(t +2)% - 5.75(t + 2) + 20.9

® P=0.35(t-2)2-5.75(t - 2) +20.9

S5 \
P1(f) = 0.3512 — 5.75¢ + 20.9 2 of,

r=0-19854,r=1—- 1990, r =2 — 1995

Py(1) = 0.35(1 + 1)% = 5.75(r + 1) + 20.9°] 9,

P3(0) = P1(1) ] B2 Py(r) ol A

t=0- 19901 g2 & 4= Qlch.
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o AR Al7E 1 AR f(x) ol Hote] f(-1) = f(1) =
f2) =32 ™ f(-2)°] F=27

f(x) = x* + ax? + bx + c = o}H

i) f(-1)=3°la-b+c-1=3
i) f(1)=3NAa+b+c+1=3
iil) f(2) =3NA 4da+2b+c+8=3
Ao AlAe d-ste] 24,
a=-2,b=-1,c=5
Loflxr)=x-2x-x+5

L f(-2)=-8-8+2+5=-9




15. x*of Al7b 1 1 AATHFA fx)ofl Hsked f(1) = 1, f(2) =
2, f(3) = 30] AT ol W, f(x) & x-4 2 He YA E?

© 9 )10 ® 11 ® 12 ® 13

B

f)=1,£2)=2,f3)=3°A f(x) =x

Z f)-xEx-1,x-2,x-3 & A2 3},
fx)—x=(x-1)(x-2)(x-3)

)= (-1 (x-2)(x-3)+x, f(4) =10

x3 +ax? 4+ bx +c 2 o

)=1=a+b+c+1=1

(2)=2=4a+2b+c+8=2

(3)=3=9+3b+c+2n=3

o] Aale ARt 29,
=-6,b=12,c = —6

= f(x) = x> -6x>+12x-6

L f(4) =43 —6x42+12x4-6=10
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